CALCULUS I, TESTI1V 1

MA125-6C, CALCULUSI1
Test 4, April 8, 2015

Name (Print last name first): .. KQ ‘S ................................

Show all your work and justify your answer!|

]No partial credit will be given for the answer only! l

You must simplify your answer when possible.

All problems in Part I are 8 points each.

1. Given the graph of the function y = f(z) below, estimate

(2) £(2), (.6

(b) fL(16), 35

(c) (f71)(L6).
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2. If f(z) = (tan( )) find f'(z)
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3. If flz)y=e*"" ﬁnd all critical numbers of f(x) (if any).
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5. Solve e*2™% =5

VST N
Q'z,lmG§>+‘¥

6. Solve In(z —4) =5,
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-4 = e
x= e FH

7. Let f(z) = 2*—32%—1 = 0. Compute the second approximate solution z3, using
Newton’s method, if the first approximate solution is z; = 2.
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8. Use the graph below to draw the location of second approximate solution given
that the first approximate solution z; = 2.5 as indicated.
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PART 11
1. [12 points] Evaluate /Mdm U = ("X )
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2. [12 points| Evaluate / @ dz. (Hint: simplify the function before integrat-
ing.)
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3. [12 points] What are the absolute max and min values of the function f(z) =
In(z? + }) on the interval [—1,1]?
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